Finding the Net Equation

Aqueous solutions of magnesium chloride and lead (llI) acetate, are mixed, a
i bright yellow solid appears in the solution. What happened?

Magnesium Chlorideq) + Lead(ll) Acetateaq) — ?

AB + CD = AD + CB

MgClzaq) + Pb(OAC)2(aq) &= MZ(OAC)2(aq) + PBClz(aq)

MgClZ(aq) + Pb(OAC)Z(aq) — Mg(OAC)Z(aq) + PbClZ(s) ] ( Molecular Equation )

Ml¥+(aQ) + Cl1'(aQ) + Pb2+(aQ) + cXC1'(Elq) - "M+(aq) + OAX-(aq) + PbClZ(S) il ( Complete lonic Equation )
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on both sides of the
arrow.

(Spectator ions appearj Cl1-(aq) + Pb2+(aq) — PbClZ(S) l ( Net lonic Equation )

y Cl1'(aq) + Pb2+(aq) —_ PbClZ(s) i ( Balanced Net lonic j

Equation




